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2025 C 2O A B OIAIIE D

A o&IED

2 014 Aol A

oelr e 33 X2 (SH9 H2)
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G&ItEL 22,201,007 24,040,3% 1,839,349
= 8,569,528
[ 476,349
Il 3,443,831
< 3,419,933
Al 6,291,366
oy a2 s 4,966,888 4,661,914 304,974
= 270,000
s 476,349
Il 1,676,345
= 1,036,401
Al 1,507,793
g 83 XI& 1,345,871 1,356,646 A10,775
[ 476,349
== 382, 131
Al 487,391
MEHE NE29 684,719 684,719 0
= 476,349
[ 104,185
Al 104,185
307 lztol & 684,719 684,719 0
s 476,349
s 104,185
Al 104,185
02 QB HANSEER 684,719 684,719 0
OMZHE 2| X2 316,419
[ 168,209
= 79,105
Al 79,106
OMLHE CIEHX 250,800
[ 200,640
= 25,080
Al 25,080
OMYHMH XPFu=s 117,500
[ 117,500
MEHE BI87S M 24,840 24,840 0
=S 4,968
Al 19,872
307 21201 & 24,840 24,840 0
< 4,968
Al 19,872
02 2B HAHE L 24,840 24,840 0
OMZHE HIER7A MM 24,840
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33 g 2 sd
oelr e 33 X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

< 4,968
Al 19,872

FALAH A ESH| 16,200 16,200 0
= 4,860
Al 11,340

307 gl2to| & 16,200 16,200 0
=S 4,860
Al 11,340

02 QB HANEER 16,200 16,200 0
OFPEAHA &SHI 16,200
< 4,800
Al 11,340

HeFgelal detus & I WERR = 8,000 8,000 0
= 4,000
Al 4,000

307 el2to| & 8,000 8,000 0
= 4,000
Al 4,000

02 QIZtEHAEE X 8,000 8,000 0
O gHHeIA Metis 4,000
s 2,000
Al 2,000
OJIZH UESD 23t 4,000
& 2,000
Al 2,000

Hgzlabg et 10,000 10,000 0
= 5,000
Al 5,000

307 @201 & 10,000 10,000 0
s 5,000
Al 5,000

02 QIS ER 10,000 10,000 0
Ondzsg adis 10,000
[ 5,000
Al 5,000

HgelsiadE 2SS 468,429 468,429 0
= 255,800
Al 212,629

307 el2to| & 468,429 468,429 0
S 255,800
Al 212,629

02 QIHEHAIEE X 103,000 103,000 0
O0d M=d A2 &1 22 103,000
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Ol&ot=0t

33 g 2 sd
el o 3% A& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e ZHogns 29 700 2,700 22,000
201 er23 | 700 2,700 22,000
01 At2teltl 700 2,700 /2,000
OXaUY ZH0Lus 29 700
ARIS XA SXPHE K& 41,100 41,100
307 gl2to| & 41,100 41,100
1 AMEISXAEEXS 41,100 41,100
OAMBIZEXIAIE SAXHKZRE LXK EX
Jte X 41,100
g - Ol 22 8RR =X 2,160 2,400 A240
203 gF=4| 2,160 2,400 A240
03 A=A =] 2,160 2,400 2240
00y - Ots&let - 15 A 20F 32 =& 2,160
- 4= og 2,083,264 1,822,090 261,174
= 270,000
7l 826,008
= 376,369
Al 610,887
- 458 oY A3s 1,000 1,500 A500
301 Eet2 NS 1,000 1,500 A500
11 #AIAHIXIE S 1,000 1,500 A500
OJte - =5 oY A3S 1,000
JHE=EEY dgA 29X 477,347 400,142 77,205
Jl 202,803
s 110,819
Al 163,725
307 @I2t01 & 477,347 400,142 77,205
Jl 202,803
= 110,819
Al 163,725
10 MEISXAAEHE2EHIE2X 477,347 400,142 77,205
OJtd=Eg o84 2SN 477,347
Il 202,803
= 110,819
Al 163,725
JHEEY Okt Xsels Z208 @ 2=l X 54,716 27,507 27,209
Il 38,300
= 8,208
Al 8,208
307 el2tol & 54,716 27,507 27,209
) 38,300
< 8,208
Al 8,208




ol Aol =
- 8= olg EER=E)
SA - B SR(S]H) - NSAY - A HIm=S2t
01 22 2 35| 8,716 8,716 0
©2| =4I 8,716
| 6,100
= 1,308
Al 1,308
11 AR SXAMEEER 46,000 18,791 27,209
oxzzs =z 46,000
| 32,200
= 6,900
Al 6,900
IIE =S O BESAIE 29 K& 286,252 234,810 51,442
| 183,302
= 37,885
Al 65,065
307 QIZ2t01 A 286,252 234,810 51,442
| 183,302
T 37,885
Al 65,065
10 Al = XA EHE2FHIE X 265,252 213,810 51,442
OJE = LKA ESAIE 29| 263,670
| 161,194
& 37,648
Al 64,828
OJE =4 Lokt ESAlE Mg =] 1,582
| 1,108
& 237
Al 237
11 AL =SXAMSES 21,000 21,000 0
OJIE = LIGHA 2ESAIE Hi== A M
]l 11,000
| 11,000
OJtE =4 OloiAt &4 NSRS 10,000
| 10,000
IIEZS HlohA BEsAAE 89 XNJ0IsE 7,000 5,320 1,680
J| 3,500
& 1,750
Al 1,750
402 QI2E X201 ™ 7,000 5,320 1,680
| 3,500
= 1,750
Al 1,750
02 QIZEXHEAIH 2 (01 THE) 7,000 5,320 1,680
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33 g 2y sd
=t JHEE - 4= olg EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OIIEE Uik 2EAE =2 N=0IS
22) 7,000
Jl 3,500
[ 1,750
Al 1,750
g=8 o84 2N 407,981 396,461 11,520
Jl 163,976
& 92,173
Al 151,832
307 glztol & 407,981 396,461 11,520
Il 163,976
s 92,173
Al 151,832
10 Al2ISTIAEEE2HIEX 407,981 396,461 11,520
Od=4 dgA 2N 407,981
Jl 163,976
S 92,173
Al 151,832
H=2 mioK o2, 20| K 38,400 38,400 0
7l 26,880
= 5,760
Al 5,760
307 @120l & 38,400 38,400 0
Il 26,880
= 5,760
Al 5,760
012z & 2=Hl 38,400 38,400 0
Od&=4 Uloikt 2=HI, 2tEHl K& 38,400
Jl 26,880
= 5,760
Al 5,760
25 Lok Xz - 215 220 11,266 11,266 0
) 7,886
& 1,690
Al 1,690
307 elztol & 11,266 11,266 0
Jl 7,886
< 1,690
Al 1,690
11 AMEISXAEEES 11,266 11,266 0
Od=< Hlohikt Xz - 2l T2 11,266
Jl 7,886
s 1,690




A HAIED
= 0l @O =
=t JHEE - 4= olg EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| Al 1,690
8= HlolAt ESAld 23 263,250 263,250 0
| 148,395
& 41,062
Al 73,793
307 QI2Hol ™ 263,250 263,250 0
| 148,3%
& 41,062
Al 73,793
10 Al SXAEHE2EHIEX 254,111 254,111 0
O8= EsA4d 29| 254,111
J| 140,756
= 40,312
Al 73,043
1 A =XAIEE X 9,139 9,139 0
Obl=== At MAH Y| 4,139
J| 4,139
O&== Lot &l XEX33 5,000
| 3,500
& 750
Al 750
SHZ oA ESAIE 2XA0IsEY) 7,000 10,734 A3, 734
| 3,500
= 1,750
Al 1,750
402 BI2HR=0l M 7,000 10,734 A3, 734
| 3,500
= 1,750
Al 1,750
02 QIZEXH2 AL 22 (01 & &) 7,000 10,734 A3, 734
O4ZE™ UlohX ESAlE 2IXADIsE
&) 7,000
| 3,500
& 1,750
Al 1,750
CIXE 88 Sstd setaga KR A,932 84,000 10,932
| 47,466
& 18,986
Al 28,480
307 gI2tol ™ A,932 84,000 10,932
| 47,466
& 18,986
Al 28,480




SN OIEIIED
33 g 2y sd
=t JHEE - 4= olg EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 94,932 84,000 10,932
OUINE g8z S3te seadl A 94,932
Jl 47,466
< 18,986
Al 28,480
AEHA MY & X2 16,500 34,000 A17,500
201 er23 | 1,300 9,000 AT7,700
01 At2teltl 1,300 9,000 AT,700
OAEZ™A Y S8 1,300
301 EtE NS 16,200 25,000 /9,800
03 A2 H A0S (XILTHH) 12,500 25,000 212,500
OAEZHA ole &l K& 12,500
14 0Bt 2as 2,700 0 2,700
OAE2ZEA MY U= 2,700
Ols (e XIS Il 2 1,260 1,260 0
= 378
Al 882
201 er23| 1,260 1,260 0
= 378
Al 882
01 AtR2t2|HI 1,260 1,260 0
O0ts g &&EXg Al 23 1,260
=S 378
Al 882
HESXAIE SAL =& 93,960 91,440 2,520
< 28,188
Al 65,772
301 EtE NS 93,960 91,440 2,520
= 28,188
Al 65,772
02 A2 HSGS(FHAAHS, NLWE) 93,960 91,440 2,520
ONWESAAIE SAHA =& 93,960
= 28,188
Al 65,772
Od== Toikt XEHAIE SEFOH| K& 22,400 22,000 400
== 6.720
Al 15,680
307 212+01& 22,400 22,000 400
< 6,720
Al 15,680
11 AMEISXAEEES 22,400 22,000 400

OWd= ToiAt XNZAIE SEFOH| A

el

22,400




A o&IED

33 g 2y sd
el I - 458 e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,720
Al 15,680
HAZH(0ESRIAIL) 300,000 200,000 100,000
= 270,000
< 21,000
Al 9,000
307 lztol & 300,000 200,000 100,000
= 270,000
== 21,000
Al 9,000
11 AMRISXAEEES 300,000 200,000 100,000
OUAHSH(HLE=XIAIE) 300,000
= 270,000
=S 21,000
Al 9,000
S0HOK & X 1,537,753 1,483,178 54,575
7l 850,337
S 277,901
Al 409,515
SOHOHE X MZ = 3,500 5,000 21,500
301 LEtE NS 3,500 5,000 1,500
14 0Bt 2as 3,500 5,000 21,500
Od IO Ol W= 3,500
SOHOHIIOH A+ XIZAIE & A=A 29 1,126,359 1,126,359 0
Il 632,369
s 190,234
Al 303,756
307 212+01& 1,126,359 1,126,359 0
7l 632,369
= 190,234
Al 303,756
1 AMISXAIEEXE 1,126,359 1,126,359 0
(OF=FSEy=filla 257,266
Il 95,140
= 59,602
Al 102,524
ody g=d 280,914
Il 170,549
= 40,816
Al 69,549
(ClGE=PNE=INEFullS 512,190
Il 321,003
= 77,959
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BE: 0l Ao BX
&2l SOHoH 22X (CH9: &S1)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
Al 113,228
o=xeld 188 75,989
| 45,677
& 11,857
Al 18,455
AOHORIIGH A KIRAIE JISEZ 26,483 6,705 19,778
| 13,242
& 6,621
Al 6,620
307 212+01™ 26,483 6,705 19,778
J| 13,242
& 6,621
Al 6,620
11 A= XA & 26,483 6,705 19,778
OHDHOHIIOH AT KIFAIE JIsE2 26,483
J| 13,242
= 6,621
Al 6,620
AOHORIIoH A =X 81,723 55,201 26,522
J| 57,206
= 12,259
Al 12,258
307 2I2+01 A 81,723 55,201 26,522
| 57,206
& 12,259
Al 12,258
11 AISI=SXAIE & 81,723 55,201 26,522
OXOHOHIIGH A R AKX 81,723
| 57,206
T 12,259
Al 12,258
SOHOHE Z X SEE XA 149,766 141,025 8,741
| 82,167
T 33,800
Al 33,79
307 212+01™ 149,766 141,025 8,741
| 82,167
& 33,800
Al 33,79
11 Al =S XAIEE 149,766 141,025 8,741
OHOHHEZ X SE XA 149,766
J| 82,167
& 33,800




FA HEIED
BE: oy A B
CH2l: HOHOH X (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 3,79
&3 Llofiots E4E X 29 149,922 148,888 1,034
Jl 65,353
= 34,987
Al 49,582
307 gl2to| & 149,922 148,888 1,034
Jl 65,353
= 34,987
Al 49,582
11 AMEISXAIEEES 149,922 148,888 1,034
OdZH Uloiots d4E XY 24 149,922
) 65,353
< 34,987
Al 49,582
Oots el 88 349,100 1,912,500 A1,563,400
Otol=01 XI& 31,000 51,500 A20,500
SO0IEHZAl 83 =012 28 10,000 20,000 10,000
201 et 3| 10,000 20,000 10,000
03 A2 I 10,000 20,000 10,000
OHIOtE =0IE, s0I2EMAY S 10,000
Ol0l=0I23t gdst 15,000 19,500 24,500
308 XXM SOIA 15,000 15,000 0
18 SIS0t 4 A AS A 15,000 15,000 0
Oot0l=0l=2=t 8= 15,000
0120l JIS AL 6,000 12,000 26,000
201 er23y| 6,000 12,000 26,000
03 A= I 6,000 12,000 26,000
OO0Rl0le JIS &AL 6,000
OrsZetz Al X3 29,500 65,100 A\35,600
2025 H== = HO20I0tHE 10,000 30,000 220,000
201 2= 10,000 30,000 /20,000
03 A2 I 10,000 30,000 220,000
©2025 &= =H0{elol0tetE 10,000
OlsZtEAl =4 19,500 35,100 A15,600
201 er23| 14,500 30,100 215,600
01 At2teltl 5,000 17,100 12,100
ootsEMII7 24 2,000
ootsdcsd & 82 2,000
OOtSES A= E R3S 29 1,000
2 S52g4l 4,500 5,000 A500
O=018F =2l B2 4,500
03 Ar=EHI 5,000 8,000 23,000




SN 01EIIED
M Ol dd S8
el OFsEstEAl X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ootsEMII7 2 3,000
OO0ISZIBt= Al 2t A=A 2,000
308 AtXIEMSOIE 5,000 5,000
07 HAHH 2R 52 5,000 5,000
OOtSEISIZAIFN XY FE 22 NI
M2t £52 5,000
OlOl=0lEl=d X1 288,600 1,795,900 A1,507,300
HE =MEE S2oHd 45,000 90,000 /45,000
401 Al HIZL 201 45,000 90,000 /45,000
01 Al&H| 45,000 90,000 /45,000
OdEl =HEd e & RAE= 45,000
e =HESY FA2 6,500 9,700 23,200
201 fer23| 1,500 2,700 21,200
01 AtR2t2|HI 1,500 2,700 1,200
OdH =NEd 222 MH 750
OdEl =XEd eE2d =25 7Y 750
206 M=Hl 5,000 7,000 22,000
01 MHZH| 5,000 7,000 22,000
O=Mgd M8 24 MM 5,000
HEZE ==018 &1 28 200,000 400,000 £200,000
401 AlEHIZ 201 200,000 400,000 A.200,000
01 Al&H| 200,000 400,000 200,000
ONEE 201 &1 29 200,000
&2 dH=018 =X2 15,000 20,000 /5,000
401 Al HIZ S OHbI 15,000 20,000 /5,000
01 AlZ2H| 15,000 20,000 25,000
&5 dH=01H =7A2d 15,000
HASd ¥ ==018 222g 22,100 26,200 24,100
201 =3 20,000 23,200 23,200
01 At2t2lt] 5,000 7,200 2,200
ORcHA=s, MYDISE, 28X 7Y S 5,000
2 s5=34l 15,000 16,000 21,000
03&E2= & AIEEHI=A| 15,000
206 MH=H| 2,100 3,000 2900
01 M=4l 2,100 3,000 A900
O2g ZZ2d 2d 85 2,100
= 33 N 14,871,326 14,003,099 868,227
= 8,299,528
Jl 1,029,406
= 2,000,399
Al 3,541,993
= 3 NE 14,871,326 14,003,099 868,227
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Ol&ot=0t

B Jbm F K|
celr O 38 NE (e A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 8,299,528
Jl 1,029,406
= 2,000,399
Al 3,541,993
FAERD A= X2 31,000 31,000 0
= 15,500
< 6,200
Al 9,300
301 EtE NS 31,000 31,000 0
= 15,500
== 6,200
Al 9,300
01 Al 2E AL S(SRDEXMHE) 31,000 31,000 0
OFAERI Ots2=H| XA 31,000
= 16,500
=S 6,200
Al 9,300
SRS MHHE=EEl A& 3,000 3,000 0
Il 2,400
= 300
Al 300
307 @120l & 3,000 3,000 0
Il 2,400
= 300
Al 300
1 AMEISXAIEEXS 3,000 3,000 0
OSR2ItE MHUL=Hl S X (BHR20t
E=SXAE LR 3,000
Il 2,400
= 300
Al 300
SIREIIE SXAE 224 1,242,189 1,242,189 0
s 186,328
Al 1,055,861
307 @I2t01 & 1,242,189 1,242,189 0
[ 186,328
Al 1,065,861
10 Al2IS XA EEE 22X 1,242,189 1,242,189 0
OBFRIIE =XAE 28| 1,242,189
== 186,328
Al 1,065,861
SRS SXAE SAA =& 28,080 28,080 0
= 8,424
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PSR
ool

o

I

= FH XA
= EFF X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 19,656

301 EtE NS 28,080 28,080 0
=S 8,424
Al 19,65

02 ARSI SE AT S(FIANS, XLETHE) 28,080 28,080 0
OBIRI2IIE SXNAE SAKL =& 28,080
< 8,424
Al 19,656

SRS SIAE g4kt HEEE= 40,000 40,000 0
= 6,000
Al 34,000

301 EtE N = 40,000 40,000 0
= 6,000
Al 34,000

02 ANBI2HHSFS(HAAS, XNLHE) 40,000 40,000 0
OstRZ2IIE SIAE EaX HEHEHS 40,000
== 6,000
Al 34,000

SRS SXAIE M 2EH 3,800 3,800 0
== 1,140
Al 2,660

307 elztol & 3,800 3,800 0
= 1,140
Al 2,660

1 AMEISXAEEXS 3,800 3,800 0
OstR2IIE SXAE AU 2 &8I 3,800
= 1,140
Al 2,660

SIRERIIE SXAE JIE8BE KA 12,900 12,900 0
[ 3,870
Al 9,030

307 glztol & 12,900 12,900 0
= 3,870
Al 9,030

1 AMEISXAEEXS 12,900 12,900 0
OsRZ2IIE SXAIE JIFdE N2 12,900
= 3,870
Al 9,030

SIREIIE SXAE JIs22 A 39,420 75,352 A35,932
Il 19,710
= 13,797
Al 5,913

402 I2FX=01 & 39,420 75,352 N35,932




AT HEIED
B Jbm F K|
ol S 33 X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Il 19,710
=S 13,797
Al 5,913
02 RIINEASEZ(0IETHR) 39,420 75,352 A35,932
OBIRI2IE=RAE JIsEZAE 39,420
Jl 19,710
= 13,797
Al 5,913
SRS SXAE P44 & - Xg X 24,100 24,100 0
Jl 12,050
= 8,435
Al 3,615
307 gl2to| & 24,100 24,100 0
Jl 12,050
= 8,435
Al 3,615
11 AMEISXAIEEXS 24,100 24,100 0
OtFRIIE SAAE 40 45 - Xz Al
! 24,100
) 12,050
= 8,435
Al 3,615
SRS dAESAIE 4A TI=Hl X2 4,000 4,000 0
= 1,200
Al 2,800
307 @120l & 4,000 4,000 0
== 1,200
Al 2,800
012z € =4 4,000 4,000 0
OstRRIIE AESAIE LAXt TI=H
A& 4,000
= 1,200
Al 2,800
A& Ol0ISSAMHIA XA (BHR2IHE) 38,697 38,697 0
) 27,088
& 8,126
Al 3,483
307 glztol & 38,697 38,697 0
Jl 27,088
< 8,126
Al 3,483
02 LB HAHEE 38,697 38,697 0
OAIE OlOISSAHIA X (BHR2IHE) 38,697
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=aak

VBl
o= Z X8
o= Z3 X9

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 27,088
=S 8,126
Al 3,483
FEHIE F=HXA 900 900 0
201 =3 900 900
01 At22t2ltl 900 900
OFUHIE F=ANZA 900
SSHEIIZE (HL L) FAHXIE 69,152 60,644 8,508
Jl 69,152
307 212+01& 69,152 60,644 8,508
Jl 69,152
1 AMEISXAIEEXS 69,152 60,644 8,508
OBSMEIIHS(NYYT) FHTA (B
2) 69,152
Il 69,152
OOI=E A2 11,704,146 11,301,781 402,365
= 8,284,028
== 1,420,118
Al 2,000,000
307 elzto| & 11,704,146 11,301,781 402,365
= 8,284,028
[ 1,420,118
Al 2,000,000
11 AMEISXAEEES 11,704,146 11,301,781 402,365
Ootol==s A& 11,704,146
= 8,284,028
== 1,420,118
Al 2,000,000
A& OtOIES MBI~ XIF(OEEHE) 3,000 3,000 0
Jl 2,100
s 630
Al 270
307 212+01™ 3,000 3,000 0
7l 2,100
= 630
Al 270
1 AMISXAIEEXE 3,000 3,000 0
OAlI4 Ot0lESMHIA XA (OISHH) 3,000
Il 2,100
= 630
Al 270
OLOIS 20l H2H &l X3 11,130 11,130 0
s 3,339




2A:

X XH -
o=

Ol&ot=0t

= FH XA

celr O 38 NE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 7,791

307 gl2tol & 11,130 11,130 0
=S 3,339
Al 7,791

11 ARRIS XA E X 11,130 11,130 0
OOt0I==20| AZHaH| X 11,130
< 3,339
Al 7,791

1010k =4 otd Y= XIZ 0l 24,600 24,600 0
= 7,380
Al 17,220

301 EtE N = 24,600 24,600 0
= 7,380
Al 17,220

02 ANBI2HHSFS(HAAS, XNLHE) 24,600 24,600 0
©1210t7 =1 etd S2XZ0| 24,600
== 7,380
Al 17,220

SS=0LIsH 29 364,432 324,956 29,476
Jl 170,136
s 72,302
Al 111,894

301 EtE NS 14,160 13,040 1,120
< 4,248
Al 9,912

02 MBI 2HEHSFHS(HAANS, KLHE) 14,160 13,040 1,120
OZ3S=0LIsH SAHA =E 14,160
= 4,248
Al 9,912

307 el2to| & 340,272 311,916 28,35
Jl 170,136
= 68,054
Al 102,082

11 AMEISXAIEEE 340,272 311,916 28,356
OZ3s=S0LisH 23 340,272
Jl 170,136
[ 68,054
Al 102,082

2t I &d BR2us X2 16,000 16,000 0
= 4,800
Al 11,200

307 el2to| & 16,000 16,000 0
= 4,800




2A:

X XH -
o=

Bl

= FH XA

ol S 33 X3 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 11,200
11 AL =SXAMEES 16,000 16,000 0
OH&st I =4 22U K& 16,000
T 4,800
Al 11,200
HFAl 2280 29 18,000 63,500 245,500
201 L2 AH| 3,000 13,500 210,500
01 AtR22eltl 3,000 13,500 210,500
OR2st 2% 3,000
301 LPENSZ 15,000 50,000 235,000
14 J|EIE A= 15,000 50,000 A35,000
OR2etn A= 15,000
IEHEH 2SR 1,044,801 0 1,044,801
| 726,770
& 218,031
Al 100,000
307 212+01™ 1,044,801 0 1,044,801
J| 726,770
= 218,031
Al 100,000
11 AR SXAMEER 1,044,801 0 1,044,801
OJI=HH 22 XA 1,044,801
| 726,770
= 218,031
Al 100,000
IISHE SALL = 156,979 0 156,979
& 29,979
Al 127,000
301 LPENZ 44,179 0 44,179
& 19,899
Al 24,280
2 AN BEA>HS(HUHS, NYHA) 44,179 0 44,179
OJI=FHH SALL =2 44,179
& 19,899
Al 24,280
307 212+01 A 112,800 0 112,800
= 10,080
Al 102,720
10 Al S XA EEER2IHIE X 112,800 0 112,800
QJII=HEH SAA = 112,800
& 10,080
Al 102,720




SN IS

Ha: J1E M XY

ol Ol EH X2 (19 @)
SA - B - SRI(EH) - HRAL - B A HIDEZ
H=eS ellel RV MHIA X2 1,000 2,000 A1,000

201 Zet=d] 1,000 2,000 A1,000
2 35234l 1,000 2,000 1,000
O¥=es elel 28 AU~ XH 1,000
CHE22tAtel X2 1,979,992 3,420,200 A1,440,208
Jl 738,080
= 383,133
Al 858,779
Ct23tAtal XI& 1,979,992 3,420,200 1,440,208
Il 738,080
= 383,133
Al 858,779
CIE2IEAIY SARE X2 34,800 33,066 1,734
= 10,440
Al 24,360
307 @120l & 34,800 33,066 1,734
== 10,440
Al 24,360
10 Al2ISTIAEEE2EHIEX 34,800 33,066 1,734
OCIZ3IHEE ALY SAeIE X3 34,800
& 10,440
Al 24,360
AHgs & MHEE S g2usAHlA X2 281,400 360,859 AT9,459
Jl 133,500
& 40,050
Al 107,850
307 glztol & 281,400 360,859 AT9,459
Il 133,500
== 40,050
Al 107,850
1 AR SXAIEE X 281,400 360,859 AT9,459
OxHes & THH4E S d2USAHEIA
A& 281,400
Jl 133,500
s 40,050
Al 107,850
CHESE S - HeAMHIA X 144,440 136,400 8,040
J| 72,220
=S 21,666
Al 50,554
307 21201 & 144,440 136,400 8,040
Il 72,220
= 21,666




SN OIEIIET
2 U2=tAtel X3
&el: ChEstAtal X9 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 50,554
11 AMEISXAEEXS 144,440 136,400 8,040
OZ &0/t S - HAKNHIA XA 144,440
Il 72,220
= 21,666
Al 50,554
CHE3E i goge X2 125,220 162,360 A37,140
Il 62,610
= 18,783
Al 43,827
307 elztol & 125,220 162,360 A37,140
) 62,610
< 18,783
Al 43,827
11 AMEISXAEEES 125,220 162,360 A37,140
Oot=2=htE Hsoge X3 125,220
Jl 62,610
< 18,783
Al 43,827
Olsa0l Jt=ed &4 168,060 182,400 14,340
Jl 84,030
== 25,209
Al 58,821
307 212+01& 168,060 182,400 14,340
Jl 84,030
=S 25,209
Al 58,821
11 ARRIS XA E X 168,060 182,400 14,340
o0lsN IIEEE =4 168,060
Jl 84,030
= 25,209
Al 58,821
ZE012N St 24,500 24,500 0
Il 12,250
= 3,675
Al 8,575
307 gl2to| & 24,500 24,500 0
Jl 12,250
= 3,675
Al 8,575
11 MEISXAEEXS 24,500 24,500 0
OZ 012kt AL 24,500
) 12,250




SN OIEIIET
2 U2=tAtel X3
&el: ChEstAtal X9 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,675
Al 8,575
Ct=3tEs netLE0l 51,450 51,450 0
= 15,435
Al 36,015
307 gl2to| & 51,450 51,450 0
=S 15,435
Al 36,015
11 ARRIS XA E X 51,450 51,450 0
OC2=tE NEiL=0l 51,450
< 16,435
Al 36,015
=28 Ot=ste 29 146,835 146,835 0
= 51,392
Al 95,443
307 el2to| & 146,835 146,835 0
= 51,392
Al 95,443
11 AMEISXAIEEXS 146,835 146,835 0
0224 li=sd 89 146,835
s 51,392
Al 95,443
201U StHFSE X2 35,500 36,500 0
S 14,200
Al 21,300
307 elztol & 35,500 36,500 0
= 14,200
Al 21,300
11 AMEISXAIEEXS 35,500 356,500 0
OZ=0I2IA 55 SE XI& 35,500
= 14,200
Al 21,300
ZE0I12X e &l XI& 5,000 5,000 0
[ 2,000
Al 3,000
307 glztol & 5,000 5,000 0
= 2,000
Al 3,000
11 AMEISXAIEEE 5,000 5,000 0
OZE0I2IA+ Thst stH| XI& 5,000
= 2,000
Al 3,000
ZE012N =HHS ws XNE 8,000 10,000 A2,000




SN OIEIIET
2 U2=tAtel X3
=2 Oh23tAtel X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 8,000 10,000 22,000
02 2B YA HE L 8,000 10,000 22,000
OZE0I2A =/HS u= A& 8,000
201N S HFSHIE A2 A 18,000 18,000 0
= 5,400
Al 12,600
307 @I2to| & 18,000 18,000 0
== 5,400
Al 12,600
11 AMRISXAEEES 18,000 18,000 0
OZE0I2A & =HFHSHIS N2 A 18,000
== 5,400
Al 12,600
CHE3EEM 223 A& 10,000 14,000 24,000
307 elztol & 10,000 14,000 24,000
04 CIZHHAMALH 2 & 10,000 0 10,000
ONAES2 s 2HS 10,000
Ct23 018! SelAdH 2 108,739 148,739 40,000
== 32,622
Al 76,117
307 212+01& 108,739 148,739 240,000
< 32,622
Al 76,117
11 AMEISXAEEES 108,739 148,739 240,000
OCtz3t 0l SlAHH 2¢ 108,739
= 32,622
Al 76,117
e=e2ext de 2 76,000 0 76,000
= 36,000
Al 40,000
307 @I2to1 & 76,000 0 76,000
== 36,000
Al 40,000
11 AMRISXAEEES 76,000 0 76,000
o=e2zxt e 2 76,000
< 36,000
Al 40,000
=0l XJHE 29 8,000 0 8,000
= 8,000
307 212+01& 8,000 0 8,000
< 8,000
1 AMISXAEEXS 8,000 0 8,000




SN OIEIIET
2 U2=tAtel X3
&el: ChEstAtal X9 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o=l X2dH 2¢ 8,000
= 8,000
Aot Bt s2XEs N 5,700 0 5,700
& 1,710
Al 3,990
301 EtE NS 5,700 0 5,700
= 1,710
Al 3,990
14 DBt 2 a3 5,700 0 5,700
OXN=IIEt HIA s2XEs A& 5,700
= 1,710
Al 3,990
Z31ol OlI=F0d 2EsAlE 28XE 292,798 292,798 0
7l 185,770
= 30,912
Al 76,116
307 @120l & 292,798 292,798 0
Il 185,770
= 30,912
Al 76,116
11 AMEISXAIEEXS 292,798 292,798 0
O=41lch 01F0d 2ESAIE 2EXEH 292,798
) 185,770
S 30,912
Al 76,116
Z30ol 0IF0eE ESAE SAA =F 14,520 14,160 360
= 4,3%
Al 10,164
301 LEetE2 N = 9,720 9,360 360
s 2,916
Al 6,804
02 ARSI S2E AT S(FIANS, XLETHE) 9,720 9,360 360
O==ldl 0IF0E 2SAIE SAA =& 9,720
[ 2,916
Al 6,804
307 elztol & 4,800 4,800 0
= 1,440
Al 3,360
10 Al SXAAEEHE 22X 4,800 4,800 0
OZHIloll OIF0d ESAIE SAK =E 4,800
= 1,440
Al 3,360
=Sl OIFHE 2sAl4 EAX XHEXIE 15,000 15,000 0




2A: HAIE
H: CI25HME X2
tel: CEstAtel A1 EER=E)
SIA - BE - OI(BIH) - NIRAIR - BA Ol b e HIR=2
| 15,000
307 212+01™ 15,000 15,000 0
| 15,000
11 AL SXAMEER 15,000 15,000 0
O=glldl 0IF0HE ESAIE &K Xt
X3 15,000
J| 15,000
Z2TI0H OIF0E BESAIE N2 2 5,000 11,183 6,183
| 2,500
T 1,250
Al 1,250
402 QI+ Xt=01H 5,000 11,183 6,183
| 2,500
T 1,250
Al 1,250
02 QIZIXEAEEE(OIMTHS) 5,000 11,183 6,183
O=4llol 010 ESAE o8 5,000
| 2,500
& 1,250
Al 1,250
ZdT|ol Ol=HA &g 2EXA 352,030 352,030 0
| 170,200
& 54,549
Al 127,281
307 212+01™ 352,030 352,030 0
| 170,200
& 54,549
Al 127,281
11 AR SXAMEER 352,030 352,030 0
O=glld 00y &g 2IRR 352,030
J| 170,200
= 54,549
Al 127,281
ZTIoH Ol MAEA SAMA = 49,000 49,000 0
& 5,484
Al 43,516
301 LPENF 11,880 11,880 0
T 3,564
Al 8,316
02 MNSI2EAHS(HUAHS, NSTHA) 11,880 11,880 0
O=41lol 010 AgA SALL =2 11,880
= 3,564
Al 8,316




A HEIED
2 U2=tAtel X3
&el: ChEstAtal X9 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 37,120 37,120 0
= 1,920
Al 35,200
10 Al SXAAEEHE2EHI2x 37,120 37,120 0
OZZUlol 0lF01d gL AN =& 37,120
= 1,920
Al 35,200
HY2EIHI(HEIEM) 33,701 42,643 N\8,942
Jl23HI(0got=m) 33,701 42,643 A8,942
J=ZHI(K &= 33,701 42,643 A8,942
201 er23| 19,510 27,547 28,037
01 At2teltl 18,510 25,547 AT7,037
Odgt+=H| 9,072
o=l 7,938
ozg=g 1,500
2 35284l 1,000 2,000 A1,000
O=EXE FAl2ell 1,000
202 04l 11,491 12,096 A605
01 =LHA LI 11,491 12,096 2605
OJl2g =0 11,491
203 HR=AH] 2,700 3,000 A300
MU FA2SHIFII 2,700 3,000 A300
ORMEIE =

225,000& 1238 2,700




